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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
G 2PACI] Tad fi

(a) Who of the following was not a classical
economist?
TEe SEd W (e Ee Ao
Aifee 7
(i) Adam Smith
S R
(i) Thomas R. Malthus
A6 9. S’
(i) John Stuart Mill
& B4M0 el
(iv) J. M. Keynes
@&, @9, (A

A9/927 ( Turn Over )



(b)

(c)

(d)

(e)

(9)

(h)

A9/927

(2)

Cite an example of ‘growth without
development’.

TIRERRA [P @B SR f

What do you mean by Marginal
Efficiency of Capital (MEC)?

T 2fes el e @2

What is the end result of development
activities in the classical model?

wcgIPre fEe Taae REaE o +iRemm 9

Define Inequality-adjusted Human
Development Index (IHDI).

(-GS 14 St Jo<eq sigen fray |

On what basis are the countries
classified as developed and developing?

2 fofs oo e e e fRonet
e $91 337

How does neutral technological progress
result in shift of Isoquant?

faems dfRe @R oRedR we
AACRAT (31 T “ifas =379

What is ‘population dividend’?
“ofzeToe feferoy’ 1% 2

( Continued )

(3)

() How many countries are included in
HDI 2018?

YR T P, 20189 R 71 WIS
91 (27

() Suppose, investment in an economy is
32% (of GDP), and the economic growth

corresponding to this level of investment
is 8%. Calculate Capital Output Ratio.

a7 Tlifes Rt e 32% (P o=
TeomaR) o @2 [RfFaer ReRite wtfss
I 21 8% 2T P TeAE TS ey
sl

2. Answer the following questions : 2x5=10
T AR e e

(a) State Adam Smith’s idea of ‘division of
labour’.

s PR e g[ems Sy 4 |

(bp) What do you understand by the concept
of the ‘low level equilibrium trap’?

IR ST T RN 9] & e 2
(c) Why is it important to express GNI per

capita in purchasing power parity (PPP)
international dollars?

P wew e (GNI) [ wieagn @R
FTFIOR IO AFP FACH ATHE ?
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(d

(e)

(4)
State two features of economic
development,
QAT T o1 AR Sy 7 |
Write two causes of reduction in

economic inequality with development.

%ﬂ$ﬁfﬁﬂ@‘ﬁ¢FﬁﬁﬁﬁﬂmT§H<§Em€iﬁ‘$ﬁq
o=

3. Answer any four of the following questions :

S 2T R G B B

(@)

(b)

(c)

A9/927

“Population is wealth to a nation or may

be liability.” Explain the statement in
the light of Indian experience.

‘@mwmwa@amawmmmmmz?
e 17 SReRq (bl Sfech g 7 |

How does vicious circle of poverty arise

due to market imperfection? Explain.

TEE WYAOR @ v wRwed creve
S B 2 47 7

State the _essence of the
problem’
model.

RIETIN T Wi wfeEer s T
PR Y ]9 |

' ‘instability
in  Harrod-Domar growth

( Continued )

5x4=20

(@)

(e)

4. Answer the following questions :

(S)

What is a ‘stationary state’? Why did
Ricardo predict a stationary state for an
economy?

B wrr o ot o7 93w e
9 TR waEE S f[fRE ?

Discuss the role of technology in
economic development.

gafer  TmEe TRl GPER SRR
SCETsA 41 |

Identify the obstacles to economic
development in developing nations.

T A wefen T dferaeryz
fortre 371 |

R PEES s

(a)

A9 /927

Explain the three components of human
development index (HDI). What are the
steps that India needs to undertake to
improve its overall position in HDI?

6+4=10

O R] S fofb a9
TREE? TR A SHE PE Tafeswe® q1eq
f& 3 ool arzd FACH! A 2
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(b)

A9/927

(6)

Or / §2<1

Discuss the role of capital as a
determinant of economic development.

Why is the rate of capital formation low
in India? 8+2=10

ILAET T FERe o TR S
%@”5;” 4| SRS PEko si5eq 3E g
?

Explain the meaning of
underdevelopment. Briefly discuss the
meaning of backwash effect. 5+5=10

SAPROR S I 9 | PO
T JE
T2 LS AT 97 |

Or/ 51

Describe briefly the various definitions
of the term development. What are the

strengths and weaknesses of each

approach?
10

ARG i e R R pe—
REINE: (a5
TN W oz f f |

( Continued )

(c)

(@)

A9/927

()

Explain the Arthur-Lewis model of
unlimited supply of labour. How far is
this theory applicable to overpopulated
underdeveloped countries? 6+4=10

efe-efz e S A SR T
1 @ WG] R WArH (PRSI

AR SIS0 2

Or / 9«1

What do you mean by the ‘process of
cumulative causation? How this term
has been used by Myrdal to explain the
development differences? 4+6=10

TR PR afen’ e o e
fAee Srme (qEw W11 SR G2 QRO
fewea T2 R ?

What do you understand by the concept
of ‘balanced growth? Explain the
relevance of balance growth theory for a
country like India. 2+8=10

e Ta TP R I SRSRA T
G PR CRaS TS S g9 AP

S 41 |
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(8)

Or / F2{71

Elaborate the concept of ‘unbalanced
growth’ in terms of ‘social overhead

capital’ and  ‘directly productive
activities’. _ 10

ST Fem Joe o “erops S
FREETT SRS Spfe S 4IICo!
JzEig fer |

* %
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